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What are they doing?
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Vzdělávací obor: Anglický jazyk

Ročník:6.



What are they doing?        

1/ Match- What are people doing in this picture?

1 Lewis and Ben are eating crisps.

2 Mary and Laura are flying paper planes.

3 Julia is sleeping.

4 Alice is drinking.

5 Dennis is writing a crossword.

6 Tara and Melanie is reading.

7 Josh is cleaning the blackboard.

8 Suzie is combing hair.

9 Peter is watching out of the window.

10 Roger and Callum are playing cards.

                                   

2/ Match:

1 Dívat se z okna. Eat crisps.

2 Číst. Fly paper planes.

3 Jíst brambůrky. Sleep .

4 Hrát harty. Drink .

5 Pouštět vlaštovky. write a crossword.

6 Doplňovat křížovku. Read .

7 Česat si vlasy. Clean the blackboard.

8 Umývat tabuli. comb hair.

9 Pít. Watch out of the window.

10 Spát. Play cards.



3/ Complete the correct form:

1/ Lewis and Ben ____________ eating crisps.

2/ Mary and Laura __________ flying paper planes.

3/Julia___________ sleeping.

4/Alice ___________drinking.

5/Dennis____________ writing a crossword.

6/Tara and Melanie _____________ watching out of the window. 

7/Josh _____________ cleaning the blackboard.

8/Suzie ___________combing hair.

9/Peter _________reading.

10/Roger and Callum ___________ playing cards.
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Metodický list:

1/ Úkoly vychází z popisu obrázku v učebnici. Žáci doplní, co dělají osoby na obrázku.

2/ Spojí výrazy dle významu.

3/ Cvičení 3 může sloužit jako opakování přítomného času průběhového na konci hodiny. (Je 

vhodné jej oddělit od ostatních.) 

Jednotlivá cvičení slouží k lepší orientaci při popisu obrázku při využití přítomného času 

průběhového. Lze je využít ve všech ročnících jako opakování.

Výsledky:

1/ 10, 1, 5, 8, 9, 7, 3, 4, 2, 6

2/ 3, 5, 1, 9, 6, 2, 8, 7, 1, 4

3/ is, are, is, is, is, are is, is ,is, are




